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Numeric Response

1. Which of the following rows for the conjunction is incorrect?

p q ~p and ~q
1 T T F
2 T F F
3 F T F
4 F F F

2. Which of the following rows for the conjunction is incorrect?

p and ~q

P
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3. Which of the following rows for the disjunction is incorrect?

p q ~porg
1 T T T
2 T F F
3 F T F
4 F F T

4. Which of the following rows for the disjunction is incorrect?

~porg

P
T
T
F
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5. Which of the following rows for the disjunction is incorrect?

p q ~p or ~q
1 T T F
2 T F T
3 F T F
4 F F T

6. Which of the following rows for the disjunction is incorrect?

p q ~porg
1 T T T
2 T F F
3 F T T
4 F F F

7. Which of the following rows for the conjunction is incorrect?

~p and g
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8. Which of the following rows for the disjunction is incorrect?

p

q
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